K1860

OIAl &
H=1 =

Ol

A g2 o] Alg]

[y — ]

(=]
L1l

=5 4Y/HIE o[0ix|

/]

7

N\

© HEINRICH KIPP WERK GmbH & Co. KG

O

3

49

MHE&3:

58 7150l U ol A3 F 2l MBIH|ME MOI2A M8 AERS
7t 7hsELICH 58 237 2 dEIHoME FLE 25 SHoE &
SELICL 28 A3 7 ¢ d2IE FA| HElCL 2 dBIHE A8
= A&t olzet AT F ¢l ElHs SCHAR MELE ST8 &

Blo|= 9t 3&| E(0|=0f AHF AFSEILICH
S8 0E 238 0/ns Flo| 437 oI MBIl Soi7ks Hg o
of LIAE 2C EMO| &4 YXIFHLICH MY HEE S5

soo| 2aHELICH

THE!:

IR L IAE AR

AlZI NBR.

M Of22:

S A AX ASE OlR el

I|AE Fst %2l

EHH.

HA™ES 21X Z Q& A3 7 2 A2 R IAEQ S AE
23E st AF0| Z=atE|o] UK| t&LICH o] ABIHE =2 &9l &2
O|E HIEIE E7 AEZJ AEQCE ARSIEE, A3 F 2l AZI- o
X|HE Mx| ZI0|E ExFTE RoldloF gLch.

CERE AR Ol AZIHE LS OHE m =2 £lo| Eo{&Eof x| of
= folslof giLict E2 £lo| Hom A3 F o AR Al3lo| &
Ao MEo| FE0| ZhlE 4+ QaLict

71& HI0|E:
Z|CH &S =: 500bar.

HMIAM2]:

- X|E4 2 E K0307.

- EZ2 27]0|E{ K0282, K0302, K1164, K0287, K0288.
- 27t% 12|15 K0386.

EMH MY

www.kipp.com - info@kipp.com 1/3



G +0,5

12 24 45 24 8 38 23 8

56 50

M6x15

20 22 10 3,5 M30x1,5

s2lE A

2/3

www.kipp.com - info@kipp.com

gD2

3/MIE olo|X]|

MO
o

K1860

=25

=
()]
-
T
£
To]
|7 R NTE 3
w2 | ?
B eLl 2 g
R = -
_ _A/ N i
1| ] T— T
“ Q-
1\ s
RS 5 5
@ _ o
=R
u / EFAF L
(O]
50 (= =
a
PHZ 5
[m]
IH ol
~= — i — w
2H ! MS iy
(o}
] \\.é.w//
—1°5 4
)
] ml |4
AqM K
5l
I
m
<l ﬁ
0
A
o =)
Hr ol
i OF

16

16

© HEINRICH KIPP WERK GmbH & Co. KG

K1860.161613061




°
e =5 A8 0l MBI
EZS 29
FEEHS n||¢§ AEES] HZE] D D1 D2 D3 G G1 H H1 H2 H3 H4 H5 H6 H7 L SW
NI
K1860.163213061 16 32 cZIE A 20 22 10 3,5 M30x1,5 M6x15 72 66 12 24 45 24 8 38 23 8
K1860.165013061 16 50 CZ2IE A" 20 22 10 3,5 M30x1,5 M6x15 90 84 12 24 45 24 8 38 23 8
K1860.201613061 20 16 C2IE Rd 26 28 12 4,2 M36x1,5 M8x16 57 51 12 25 45 25 10 40 28 10
K1860.203213061 20 32 CEIERME 26 28 12 42 M36x1,5 M8x16 73 67 12 25 45 25 10 40 28 10
K1860.205013061 20 50 C2IE A'"d 26 28 12 4,2 M36x1,5 M8x16 91 85 12 25 45 25 10 40 28 10
K1860.252013061 25 20 CZ2IE A" 33 35 16 52 M42x1,5 M10x17 63 56 12 25 45 25 11 40 30 13
K1860.255013061 25 50 C2E &MY 3335 16 52 M42x1,5 M10x17 93 86 12 25 45 25 11 40 30 13
K1860.322513061 32 25 CZ2IE R'"d 43 45 20 52 M56x2 M12x18 74 64 14,5 28 45 28 13 41 40 17
K1860.325013061 32 50 C2IE X" 43 45 20 52 M56x2 M12x18 99 89 14,5 28 45 28 13 41 40 17
K1860.402513061 40 25 CZ2E A 53 55 25 52 M64x2  M16x27 78 68 16,5 30 49 30 16 46 50 22
K1860.405013061 40 50 CZ2IE R'"d 53 55 25 52 M64x2  M16x27 103 93 16,5 30 49 30 16 46 50 22
FEHS IAE oF =24 ahe] of =24 L] 22 272 /10mm 22 272 /10mm
X|&  100bar @9 100bar B9 500bar @9 500bar B2 AEEF e AEERT
(kN) (kN) (kN) (kN) (cm?) (cm?)
K1860.161613061 16 2 1,22 10 6,10 2 1,22
K1860.163213061 16 2 1,22 10 6,10 2 1,22
K1860.165013061 16 2 1,22 10 6,10 2 1,22
K1860.201613061 20 3,14 2,02 15,70 10 3,14 2,02
K1860.203213061 20 3,14 2,02 15,70 10 3,14 2,02
K1860.205013061 20 3,14 2,02 15,70 10 3,14 2,02
K1860.252013061 25 4,91 2,9 24,50 14,50 4,91 2,90
K1860.255013061 25 4,91 2,9 24,50 14,50 4,91 2,90
K1860.322513061 32 8,04 4,9 40,20 24,50 8,04 4,90
K1860.325013061 32 8,04 49 40,20 24,50 8,04 4,90
K1860.402513061 40 12,57 7,66 62,80 38,30 12,57 7,66
K1860.405013061 40 12,57 7,66 62,80 38,30 12,57 7,66

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 3/3



